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AP Practice — Limits

Multiple Choice Questions
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The figure above shows the graph of a function f with domam 0<x <4, Which of the
following statements are true?
I 11'1%1_ f(x) exists.
IL. 11'1}11f £ (x) exists.
ML Lm f (x) exists.
(A) I only (B)Ilonly (C)IandII only (D)Iand Il only (E) 1. II and III
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For which of the following does “_‘}l f(x) exist?
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The graph of the function f is shown in the figure above. Which of the following statements about
f 1s true?
A) b x)=li -
(@) lim £()= lim £(x)
(B) lim f(x)=2
X—a
C) I =2
(©  lim £
D) I =1
© lim £(3)
(E) lim f(x) does not exist.
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